JL_

Vertical Division with a Helper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
35[8956 3[5229 7[70
2.
3.
4.
5.
6.
) 5) 6) "
7|77 62/8928 4(862 8
9.
7) 8) 9
81527 397254 52923
1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 255131 2 1743 3 10
55956 s[5229 /7o . 255r31
0 3 7 5 1743
89 22 00
70 21 0 3 10
195 12 0 . 1
175 12
206 09 5 144
175 9
31 0 6. 21512
7. 65r7
9 11 5) 144 6 2152
7177 62[8928 4[862 s 186
7 0 8
07 89 06 0. 08413
7 62 4
0 272 22
248 20
248 2
248
)
7) 65r7 8) 186 9) 584r3
8[527 39[7254 52923
0 0 0
52 72 29
48 39 25
47 335 42
40 312 40
7 234 23
234 20
) 3
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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
65 r7 10 1743
11 215712 186 1
144 584 r3 255 r31
1) 2) 3) z
35[8956 35229 7|70 3
4,
5.
6.
7.
8.
4) 5) 6)
7|77 62[8928 4[862 0.
7) 8) 9)
8527 39|7254 52923
M odified 1-9 |89[78]|67[56|44[33|22[11] 0 |
[ Math ] www.CommonCoreSheets.com 1
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
1) 2) 3)
1.
995334 931651 67290
2,
3.
4.
5.
6.
) 5) 6) "
741619 8452 3016420 8.
9.
7) 8) 9)
55/880 3l87 2/8493
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 2
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 53r87 2) 7 3 1215 53187
995334 03[651 6[7290 i
0 0 6 ) 7
53 65 12
533 651 09 . 8127
495 651 6
384 0 30 5. 56r4
297 30
57 o 6 214
7 16
4) 8127 5) 56r4 6) 214
74[619 8l452 30[6420 e 29
0 0 0
61 a5 64 o 4246711
0 40 60
619 52 42
592 48 30
27 4 120
120
0
7) 16 8 29 9 424611
55880 387 2[8493
0 6 8
88 27 04
55 27 4
330 0 09
330 8
0 13
12
1
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
7 214 29
1215 4246 rl 53 r87 1
8 r27 56 r4 16
2,
1) 2) 3)

99(5334 93[651 6[7290 3

4) 5) 6)

74[619 8|452 30(6420 0.

7) 8) 9)

55/880 3l87 2(8493

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 2




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

3[2835 02[644 36[4896 -

4) 5) 6)
41967 916609 612147 8.

7) 8) 9)

538120 84|4704 4[92

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 945 2) 7 3) 136 945
32835 92[644 36[4896
0 0 0 7
28 64 48
27 9 E 136
13 644 129 241 13
12 644 108
15 0 216 73413
15 216
0 0 35715
153r11
9 24113 5) 73413 6) 35715
4967 9(6609 62147 56
8 0 0
16 66 21 23
16 63 18
07 30 34
4 27 30
3 39 47
36 42
3 5
7) 153r1l 8) 56 9 23
53[8120 84[4704 4fo2
0 0 8
81 47 12
53 0 12
282 470 0
265 420
170 504
159 504
11 0

[ Math ] www.CommonCoreSheets.com

1-9 [89|78|67]56|44[33[22]11] 0 |
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
241 r3 945 734 r3
357 r5 136 7 1
153 r11 23 56
1) 2) 3 g
312835 921644 36(4896 3.
4,
5,
6.
7.
8.
4) 5) 6)
4967 916609 62147 .
7) 8) 9)
53(8120 844704 4[92

M odified
[ M ath ] www.CommonCoreSheets.com
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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

3/455

4)

36632

7)

88897

2)

678

5)
8|1490

8)

8514250

3)

6)

9)

76456

62|18494

915968

Answers

[ M ath ] www.CommonCoreSheets.com
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
) 1512 2 13 3) 6
3PE§§ GT?g 76Pﬁ§§ 1 151r2
3 6 0 » 13
15 18 45
15 18 0 d 6
05 0 456 . 17120
3 456
2 0 s 186r2
6. 137
;. 10r17
4) 17r20 5) 18612 6) 137
36[632 8/1490 62/8494 g 50
0 0 0
63 14 84 0. _ 65153
36 8 62
272 69 229
252 64 186
20 50 434
48 434
2 0
7) 10r17 8) 50 9) 65r53
88[897 854250 915968
0 0 0
89 42 59
88 0 0
17 425 596
0 425 546
17 00 508
0 455
0 53
[ Math ] www.CommonCoreSheets.com 4 e




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
50 10 r17 186 r2
151 r2 6 13 1
65 r53 17 r20 137
2,
1) 2) 3)

3l455 6|78 76456 3

4) 5) 6)

36(632 8|1490 62(8494 0.

7) 8) 9)

88897 854250 91/5968

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 4
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Vertical Division with a Helper Grid Name:

Solve each problem. Answers
1) 2) 3)

2711355 718176 5419882
4) 5) 6)

79798 2|781 23|566
7) 8) 9

49147 4914385 2|793

1-9 [89|78|67]56|44[33[22]11] 0 |

[ Math ] www.CommonCoreSheets.com 5
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 5015 2 1168 3) 183 5015
27[1355 7[8176 54(9882
0 7 0 1168
13 11 98
0 7 54 183
135 47 448 1018
135 42 432
05 56 162 300r1
0 56 162
5 0 0 24r14
3
4) 10r8 5 390r1 6) 24r14
79798 2[781 23[566 89 r24
0 6 0
79 18 56 3%r1
79 18 46
08 01 106
0 0 92
8 1 14
7) 3 8) 89r24 9 39611
49147 49[4385 2[793
0 0 6
14 43 19
0 0 18
147 438 13
147 392 12
0 465 1
441

24
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
1168 24 rl14 89 r24
396 rl 10 r8 390 r1 1
50 r5 183 3
2,
1) 2) 3)
271355 78176 5419882 3
4.
5.
6.
7.
8.
4) 5) 6)

79798 2[781 23566 0.

7) 8) 9)

49147 49/4385 2|793

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 5




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

252 9[1139 97[8894 i

4) 5) 6)

7|35 2[2505 568624 8

7) 8) 9)
451270 41790 7|1575

1-9 [89|78|67]56|44[33[22]11] 0 |

[ M ath ] www.CommonCoreSheets.com 6
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Vertical Division with a Helper Grid

Name:. Answer Key

Solve each problem. Answers
) 26 2) 12615 3) 91r67 26
252 91139 97[8894 -
4 0 0 2. 126 r5
12 11 88
12 9 0 3. 91r67
0 23 889
4 5
18 873
59 164 s 1252r1
54 97
5 67 6. 154
7 6
4) 5 5 1252r1 6) 154
7[35 2|2505 56/8624 s 19712
0 2 0
35 05 86 0. 225
35 4 56
0 10 302
10 280
05 224
4 224
1 0
7) 6 8 197r2 9) 225
45[270 4790 7|1575
0 4 0
27 39 15
0 36 14
270 30 17
270 28 14
0 2 35
35
0
[ Math ]www.CommonCoreSheets.com 6 B |89|78|67|56|44|33|22|11| Ol




C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
126 r5 154 197 r2
225 1252 rl 91 r67 1
26 5 6
1) 2) 3)
2|52 91139 97/8894
4) 5) 6)
7)35 22505 56(862 4
7) 8) 9)
45270 41790 711575
M odified 1-9 |89[78]|67[56|44[33|22[11] 0 |
[ Math ] www.CommonCoreSheets.com 6
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Vertical Division with aHelper Grid

Name:

Solve each problem.

1)

8816688

4)

8114293

7)
2|843

2)

68516

5)
36870

8)
6/9084

3)

13|14704

6)

4[s2

9)

11[243

Answers

[ M ath ] www.CommonCoreSheets.com
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 76 2) 7140 3) 361r11 76
83[6688 68[516 13[4704 i
0 0 0 2 7140
66 51 47
0 0 39 3 361rll
668 516 80 . 53
616 476 78
528 40 24 s 2290
528 13
0 11 6 8
;. 421r1
4) 53 5 2290 6) 8
81[4293 3/6870 4[32 s 1514
0 6 0
42 08 32 0. 2211
0 6 32
429 27 0
405 27
243 00
243 0
0 0
N 421 8 1514 9) 22r1
2[843 6/9084 11243
8 6 0
04 30 24
4 30 22
03 08 23
2 6 22
1 24 1
24
0

[ Math ] www.CommonCoreSheets.com
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Vertical Division with a Helper Grid Name:
Solve each problem. Answers
8 421 rl 1514
7 r40 2290 76 1
22 rl 53 361 r11
1) 2) 3) z
8816688 68|516 13(4704 3
4.
5.
6.
7.
8.
4) 5) 6)
81[4293 3/6870 4[32 9
7) 8) 9
21843 619084 111243
M odified 1-9 |89|78[67[56]44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 7




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

5[263 92[644 2[66 -

4) 5) 6)

420 87783 21282 ;.

7) 8) 9)
6619758 212508 97|1358

1-9 [89|78|67]56|44[33[22]11] 0 |

[ M ath ] www.CommonCoreSheets.com 8
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 52r3 2) 7 3 33 5213
1.
5263 92(644 2[66
0 0 6 ) 7
26 64 06
25 0 6 3 33
13 644 0
4 5
10 644
3 0 . 9
6. 13r9
. 147156
4) 5 5) 9 6) 13r9
420 87|783 21282 s 1254
0 0 0
20 78 28 J 14
20 0 21
0 783 72
783 63
0 9
7) 147156 8 1254 9) 14
66/9758 2[2508 97[1358
0 2 0
97 05 13
66 4 0
315 10 135
264 10 97
518 08 388
462 8 388
56 0 0

[ Math ] www.CommonCoreSheets.com
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
5 1254 13 r9
147 r56 14 52 r3 1
9 33 7
2,
1) 2) 3)

5263 92644 2[66 3

4) 5) 6)

420 87783 21282 0.

7) 8) 9

669758 212508 971358

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 8




C:h Vertical Division with a Helper Grid

Name:
Solve each problem. Answers
1) 2) 3)
1.
43(258 68753 412805
2.
3.
4,
5.
6.
) 5) 6) "
7173|4732 201231 971414 8.
0.
7) 8) 9
81[3750 7|70 51195
1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 9
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 6 2 145815 3) 701r1 6
43258 6/6753 4[2805
0 6 0 14585
25 27 28
0 24 28 701rl
258 35 00 64 160
258 30 0
0 53 05 11r11
48 4
5 1 4126
46 r 24
4) 64 r60 5) 11r11 6) 4126
73[4732 20[231 97[414 10
0 0 0
47 23 41 239
0 20 0
473 31 414
438 20 388
352 11 26
292
60
7) 46124 8 10 9) 239
81[3750 7[70 51195
0 7 0
37 00 11
0 0 10
375 0 19
324 15
510 45
486 45
24 0

[ Math ] www.CommonCoreSheets.com
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C:h Vertical Division with aHelper Grid Name:

Solve each problem. Answers
64 r60 11 rl11 239
10 1458 r5 4 r26 1
6 46 r24 701 rl
2.
1) 2) 3)
431258 68753 412805 3.
4.
5.
6.
7.
8.
4) 5) 6)

734732 20231 o7[414 0.

7) 8) 9)

81[3750 7|70 51195

M odified 1-9 [89[78]67[56[44[33]22[11] 0 |
[ Math ] www.CommonCoreSheets.com 9




C:h Vertical Division with aHelper Grid Name:
Solve each problem. Answers

1) 2) 3)

630 7[837 76[206 "

4) 5) 6)

52(8112 80[480 38(6878 8

7) 8) 9)

93[834 9[3546 72[2319

1-9 [89|78|67]56|44[33[22]11] 0 |
[ Math ] www.CommonCoreSheets.com 10
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 5 2 119r4 3) 2154 5
6[30 7837 76[206 :
0 7 0 , 119r4
30 13 20
30 7 0 3. 2154
0 67 206 . 156
63 152
2 54 . 6
6. 181
7 8r90
4) 156 5) 6 6) 181
52(8112 80[480 38(6878 s 394
0 0 0
81 48 68 0. _ 32115
52 0 38
291 480 307
260 480 304
312 0 - 38
312 38
0 0
7) 8190 8) 394 9) 32r15
93[834 9[3546 72[2319
0 0 0
83 35 23
0 27 0
834 84 231
744 81 216
90 36 159
36 144
0 15

[ Math
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Vertical Division with aHelper Grid Name:
Solve each problem. Answers
2154 32 r15 156
5 181 8 ro0 1.
119 r4 394 6
1) 2) 3 g
6/30 7/837 76/206 3
4,
5.
6.
7.
8.
4) 5) 6)
52|18112 801480 38|16878 9.
7) 8) 9
93|1834 913546 72|12319
M odified 1-9 [89]78]67]56]44[33[22[11] 0 |
[ Math ] www.CommonCoreSheets.com 10
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